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Question 1 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Booklet A (28 x 2 marks}
For each question from 1 to 28, four options are given. One of them is the correct answer.

Tragmphhuhwshmmlhummnfahnhywcrapariudul'mhammlh:.

Mass (-}

—_ —r

Age (months)

The graph shows that living things

v A) grow
B) reproduce
C) need air, food and water

D) respond to changes in its surroundings

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
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Question 2

v" A) They can fly

B) They have feelers

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 3

Tue 29th Sep 2020

23,960,305

Which one of the following is not a characteristic of an insect?

C) They have six legs

D) They have three body parts

Multiple Choice

No

Tue 29th Sep 2020
Tue 29th Sep 2020
23,960,320
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Thtdﬂﬂhﬂhwammhhnﬂaﬁmmﬂ;aﬁﬂmmufmmw,
X, ¥ and Z A fick (') shows the presence of the characteristic.

[ w ] x
Can it swim? W u" v
Does it have gills? o
Does it have an outer covering of scales? W o

A)
v B)
C)
D)

N < x s

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:
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Which one of the following is a fish?

Multiple Choice

No

Tue 29th Sep 2020
Tue 29th Sep 2020
23,960,329
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Tha table below shows how some living things can be grouped,

Primary 4 Maths » Primary 4 Math (Term 2)

Group P

Group 0

Which one of the fallewing shows the most suitable hasding for groups P and

https://www.classmarker.com/a/tests/test/?test_id=1531644&trk=edittest_inrow_edit

ar
Group P Group Q
(1) Has leaves Doas not have leaves
(2) Flowering Flants Maon-Flewering Plants
B Makes its own food Does not make its own food |
[4-.] Reproduce by seeds Reproduce by spones J
A) 1
B) 2
C) 3
v' D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,337

2 pts

3/48


https://0cm.classmarker.com/6226088_KOLW3R2J.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1531644&question_id=23960337
https://www.classmarker.com/a/tests/qb/manage/?test_id=1531644&question_id=23960337&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1531644

8/6/2021

Question 5

A: They have a stem

v A) Donly
B) Aand C only
C) BandDonly

D) A, BandD only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 6

A) ltcanfly
v B) It does not feed

C) It can reproduce

Question Type:
Randomize Answers:
Date Added:

B: They reproduce by seeds
C: They do not make their own food
D: They respond to changes around them

Multiple Choice

No

Tue 29th Sep 2020
Tue 29th Sep 2020
23,960,358

D) It resembles the adult

Multiple Choice
No
Tue 29th Sep 2020
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Primary 4 Maths » Primary 4 Math (Term 2)

Which of the following statement(s) describe (s) the similarities between plants and fungi?

Primary 4 Maths » Primary 4 Math (Term 2)

The diagram below shows the fe eycle of a mosquito.

Which one of the following statements is true about stage P7?
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Last Modified: Tue 29th Sep 2020
QID#: 23,960,373

Question 7 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

The diagrams below show the life cycla of a chicken and a butierfly.

Life cycle of a chicken Life eyele of butterfly

Which of tha following statement(s) isfane comect?

Both reproduce by leying eg9gs.

Both have three-stage lite cycle.

Both the young resemibde the sdulls,

Eoth have wings as soon as they are halched.

oOmm™

v A) Aonly

B) AandD only
C) BandConly
D) CandD only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,382

Question 8 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Joshua grew some beans. Which of the following correctly shows the dry mass of the seed leaf as the
seedling increases in height?

v A)
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Mass of zeed leaf (g)
"

» Height of plant (cm)
" Mass of seed leaf (g)
ik
* Height of plant (cm)
? Mass of seed leaf (g)
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Question Type: Multiple Choice
Randomize Answers: No

Question 9

placed in different conditions.

Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,412
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The diagram bdmmﬁlmmwmmnﬁnﬂmﬁﬁufum?

Set-up A
(Placed in the cupboard)

Sel-up B

[Placed In the freezer} ~

clry
cothon
woio!

SetupC
[Placed in the cupboard)

Set-up D

{Placed by the window)

v A) A

c C

D) D

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,427

Inwhich of the following set-ups wil sesds Y germinate?
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Question 10 Primary 4 Maths » Primary 4 Math (Term 2)

Which one of the following set of organs belongs to human digestive system?

(1) noes lungs grullet heart
{2) heart stomach béood blood vessels
{3} msiath windpipe [ small intestine | large infestine
i4) gullet stomach small intesfine | mouth
A) 1
B) 2
c) 3
v' D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,437
Question 11 Primary 4 Maths » Primary 4 Math (Term 2)

Which one of the following shows the function of the skeletal system?

A) Remove carbon dioxide from the body
v B) Protect organs like the brains and lungs
C) Breaks down food into simpler substances

D) Transport nutrients to other parts of the body

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 29th Sep 2020

Last Modified: Tue 29th Sep 2020

QID#: 23,960,463
Question 12 Primary 4 Maths » Primary 4 Math (Term 2)
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The diagram below shows how substancel(s) ilare moved from one system io
another. The arrow indicates the direclion in which the substanca(s) isfare

moved.
Dagestive Respiratory
sysbam syslem
X o '
z
KXand¥
Ciher parts of
the body

Which of the following best represent substances X and ¥ and system Z7

-_—

| X ¥ z
| {1} carbon dioxide nurients Circulatory sysiem
{2 oEygen nutrienis bsscular system
[ nutrienis oxygen Circulaiory systam
-.“] axygen carbon dicxide Muscular syslem
A) 1
B) 2
v C) 3
D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,471
Question 13 Primary 4 Maths » Primary 4 Math (Term 2)

https://www.classmarker.com/a/tests/test/?test_id=1531644&trk=edittest_inrow_edit

2 pts

9/48


https://0cm.classmarker.com/6226088_BLP6T9MN.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1531644&question_id=23960471
https://www.classmarker.com/a/tests/qb/manage/?test_id=1531644&question_id=23960471&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1531644

8/6/2021 ClassMarker - Manage Test

Jeremy ate a bowl of noodles for lunch. The graph below shows the ameunt af
digested food in different argans of the digestive system.

Key
B pigesied Food

Which of the fellowing organs |z Ekely to be the small intestines?

A) Organ W
v' B) Organ X
C) OrganY
D) OrganZz
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,485
Question 14 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Four idantical plants with different number of roots were phaced inte four
identlcal pots flad with same amount of waler,

Which one of the fallowing set-ups would most likety to have the least amount
of watar lefl in the pol after one week?

v A)

https://www.classmarker.com/a/tests/test/?test_id=1531644&trk=edittest_inrow_edit 10/48


https://0cm.classmarker.com/6226088_N974AVSN.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1531644&question_id=23960485
https://www.classmarker.com/a/tests/qb/manage/?test_id=1531644&question_id=23960485&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1531644
https://0cm.classmarker.com/6226088_1HMHZZLR.png

8/6/2021 ClassMarker - Manage Test

oil

water

B)

C)
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D)

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 29th Sep 2020

Last Modified: Tue 29th Sep 2020

QID#: 23,960,511
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Four different parts of a plant, A, B, C and D are labelled as shown below.

Which one of the following parts helps to make food?

v A A
B) B
C) C
D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,518
Question 16 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts
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Jermy pul a plant into & flask of red-coloured waler as shown in the diagram
below.

The table below shows some information of plants of the same type, A, B and
C, that were placed in red-coloured water, A tick (/) shows the presense of

parie of the plant.
Paris of pla ] T
e A B c
Waler-carmying fubes o o
Food-carrying tubes £ 0

I which plarit{s) would the lesves tum red after throe days?

A) Conly
v' B) Aand B only

C) BandConly

D) A,BandC

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 29th Sep 2020

Last Modified: Tue 29th Sep 2020

QID#: 23,960,530
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Alle removed part of the outer ring of a planl After several days, she
observed swelling near tha top part of the stem where the ring was removed.

At first

After several days

wiew of parl X

gwnlian

Cross section of a normal stem

food-camying fubes

water-camying tubes

Which one of the following is fikely the explanation for the swollen part of the

stem obsanmed at WY

A) Food cannot be transported from W to Y
B) Food cannot be transported from Y to W
C) Water cannot be transported from W to Y

D) Water cannot be transported from Y to W

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 18

Multiple Choice

No

Tue 29th Sep 2020
Tue 29th Sep 2020
23,960,545
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John uses a personal flotation device placed around his arms 0 help keep
him float on his back while he relaxes n the pool as shown in the diagram
balow.

The table below shows eoms informatiaon on the progerties of matedals P, Q.F
and 5. A tick [« ) shows the presence of the proparty.

. - Tl
Proparty-~ '- | Allow light
Flaxibhe Able to Moat Wll:m'pm-uf to pass
Material through
P 4 o
a | , 7
R ¥y
5 of
Which ane of the following materials i= most suitable to be used to make the
fletation device?
A) P
B) Q
v C) R
D) S
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,560
Question 19 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts
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The flow chart below shows how some materials are grouped.

Materials

Which one of the following cormectly represents questions in A and B?

A B

(1) |is it hard? : Is # light?

12 |s it strang? Does it break easily?
13) | Doss it allow kight to pass through? | s It strong?

(%) | Does it allow light to pass through? | 1s it lexdble?

A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,565
Question 20 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Which of the following is a matter?

A) Sunlight
B) Thunder
C) Lightning

v' D) Raindrops
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 29th Sep 2020

Last Modified: N/A

QID#: 23,960,570

Question 21 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Med filled twe beakers with equal amount of water. She then placed cbjects P
and @ in each of the beaker and observed that the waler level rose to the
same height as shown in the diagram Delow.

abject G—

Which one of the following statements about objects P and O is comect?

A) They have the same mass
v’ B) They have the same volume
C) They have the same weight

D) They are made of the same material

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 29th Sep 2020

Last Modified: Tue 29th Sep 2020

QID#: 23,960,577

Question 22 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts
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Izzy set up the experiment shown below

=%

|
What would ehe obesanse after she had biown air imo the tube for hwenty

saconds T
A Water lewel in the bell jar would increase.
B Water level in the container would (ncreass,
G Voleme of air in tha bell jar woull increase,
0 ‘\olume of water in the container would decrease.

A) AandB only
v' B) BandConly
C) BandD only

D) A,B,CandD

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 29th Sep 2020

Last Modified: Tue 29th Sep 2020

QID#: 23,960,590
Question 23 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

A ping pong ball was placed in a container of water as shown badow. An ampty
glass with a hole was than pushed into the container.

i glass
with hole

——ping pong ball

Which one of the: following shows the cormect observation after the glass was
pushed info the container of waler?

v A)
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B)

C)

D)

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,602
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Tha diagrama maﬁhmummﬂam ohjects R, 5. T, amd U on &

balanoa.
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_

L3

(2

L/

Which one of the following shows the cormect cbsanation?

A)

B)

&

D)

& A
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 29th Sep 2020

Last Modified: Tue 29th Sep 2020

QID#: 23,960,619
Question 25 Primary 4 Maths » Primary 4 Math (Term 2)

sabella hung a magnet from the top of her lable and fabelled the north-pole
and south-pole as N and 5 respectively. Sha then placed three bars, W, X,
and ¥, next to both poles of the magnet one at a time.

Eiﬂ!ﬁmmﬂﬂﬂhﬂﬂmlmmmnﬂﬁmlﬂfmmHMHMW

tahle below.
Interaction between the bar and poles of magnet
Bar MN-Pola S-pole
W Attraction Attraction
X No interaction Mo interaction i
¥ Attraction Repulsion J

Which one of the following represent bars W, X and Y cormactly?

Bar'W Bar X Bar¥
(13 Stes=| Wiood Magnat
(2 Sie=| Magnet Woaod
() Magnet Stesl Waod
() Magnet Wood Stesl
v A) 1
B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,960,632
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Question 26

Primary 4 Maths » Primary 4 Math (Term 2)

Sam made an slectromagnet waing an iron nall placed in an slectric drcult as
shown below, He obsarved that only some paper clips were atiracted hi._

—iiran nail

T

Which of the following statementis) suggestis) way(s) of Increasing the

number of paper cips attracted by the electromagnat?

A Increase the size of the nail,

B Incresse the length of the wine.

G Increage the number of batieries.

O Increass the number of coils ancund the nail.

A) Bonly
B) Conly
¥ C) CandD only

D) A, BandD only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,637

Question 27
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Estelle stroke four idenfical imon rods, A, B, C and D, using magnets of
different magnetic strength in the directions indicated by the arrows shown

below.
Weak Weak
A magnet ' magnet
1 1
% r i i
il R - i e e e
A [ B
Mumber of strokes: 50 Mumber of strokes; 20
Strong Sirong
magnet magnet
i
1
‘x____ _'._f e e e, i
i D
Mumbsar of strokes: 50 Mumber of strokes; 100 |

Which one of the following shows the comect arrangement in onder of strength
for the temparary magnets, starting with the weakes! magnet?

Weakest Strongest
(1 A B c D
2) D A B c -
3 D B A e
() B A c D
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,652
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Question 28 Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

. The diagram below shows a separator usad in a recycling plant to separate
metals from nor-metals,

Mt uare nfmmalﬂuls potired

Eleciromagnedt

Urforiunately, one of the electromagnets was damaged and a replacement
had o be usad,

Allan placed etectromagnets same distance above a tray of nails and obaene
the number of nails attracied to each of them in the table bedow.

l Electromagnets Mumber of iren nails
attraciod
<]
i £
B
12

3o m

Vihich one of the following electramagnats wiould be the most suitable as the

replrcement?
A) A
v B) B
C) C
D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,960,658
Question 29 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it was
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designed in such a way that it requires manual assistance.

Tha hnunthalmialmtumdmdlrwaturaﬁamm_&mmth
ﬂeudn'liTm slices of bread, X, ¥ and 7, were kapt in an airtight container an

ClassMarker - Manage Test

of moulds on
d left

an a tebde top for & week,
1!"#“ airtight mirtight
coftanar canaines cortainer
boastad
sprayad__| two drop
bread with waker of watar
Broad X Bread Y aanly

Question Type:
Date Added:
Last Modified:
QID#:

v Water

¥ moisture

Question Type:
Date Added:
Last Modified:
QID#:

https://www.classmarker.com/a/tests/test/?test_id=1531644&trk=edittest_inrow_edit

{a) State one other condition neaded for moulds to grow.

Essay

Tue 29th Sep 2020
N/A

23,961,399

Correctly answered feedback
One other condition is warmth

Incorrectly answered feedback
One other condition is warmth

Question 30

Accepted answers:

Free Text

Tue 29th Sep 2020
N/A

23,961,408

Question 31

(1]

Primary 4 Science » Primary 4 Science (Term 2)

Toasting bread will help remove a substance from the bread. Name the substance

Primary 4 Science » Primary 4 Science (Term 2)

1 pt

0 pts
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and Z.

The table balow shows the
week. The black spots indicate the p

ClassMarker - Manage Test

cbservations of the three slices of bread after ane
resence of moulds. identify breads XY

Date Added:
Last Modified:
QID#:

Bread

Question Type: Essay

Tue 29th Sep 2020
N/A
23,961,418

Correctly answered feedback

Bread _

Bread Z

Bread X

Bread Y

Incorrectly answered feedback

Bread Z

Bread X

Bread Y

Question 32

Primary 4 Science » Primary 4 Science (Term 2)
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The flow chart betow shows how some animals wene classified.

Does it have o 5
H Fish
seAlaE?

Mo
Does it have six
legs?
Mo

Does 1§ have

@)  Stale one similarity between animals T and 5. [1]

{b) State one difference betwsan animats Rand T (1]

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: Tue 29th Sep 2020
QID#: 23,961,428

Correctly answered feedback

{a) Both animals T and § do not have scales.

(b}  Animal T has six legs but animal R does not have six legs.

Incorrectly answered feedback

{a) Both animals T and § do not have scales.,

(b} Animal T has six legs but animal R does not have six legs.
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Question 33 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Tha diagram below shows an anirmal

{c) Based on tha information on the fliowchart, which group of animals, R, 5o 1.

does this animal belong to? 1
v A) R
B) S
C) T
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,440

Correctly answered feedback
R

Incorrectly answered feedback
S

Question 34 Primary 4 Science » Primary 4 Science (Term 2) 1 pt
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The graph below shows the armount of food consumed by organism X during
- differant stages of b life cycle.

-

Tima (Cieys)

Wéhat stages of the ife cycke of arganism X ans represented from A 1o B and
CtoD? 2

Amound of food (Q)

M AtB o

Accepted answers:

v egg

Question Type: Free Text

Date Added: Tue 29th Sep 2020
Last Modified: N/A

QID#: 23,961,451

Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Question 35

(ii) CtoD

Accepted answers:

¥ Pupa

Question Type: Free Text

Date Added: Tue 29th Sep 2020
Last Modified: N/A

QID#: 23,961,453

Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Question 36

Name one animal which goes through similar life cycle as organism X.

Accepted answers:
https://www.classmarker.com/a/tests/test/?test_id=1531644&trk=edittest_inrow_edit
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v’ butterfly

¥" The butterfly

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Tue 29th Sep 2020
N/A

23,961,463

Question 37

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

Tha dliagram balow shows the different stages of development of a plant

{a) MAmange e siagas of deveiopment of the plant comectly by wiling the lethers

A, B, G, and D in the eodresd boxes in the diagram below.

Use the lefier ONCE only.

Please type "Done" to proceed to the next question

Question Type:
Date Added:
Last Modified:
QID#:

Sl

—

Essay

Tue 29th Sep 2020
N/A

23,961,474

Correctly answered feedback

|

0 pts
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Lt P~

Incorrectly answered feedback

T

Question 38 Primary 4 Science » Primary 4 Science (Term 2)

James commented that when the seed leaves in stage B are removed, the plant will die. Do you
agree? Give a reason for your answer

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,501

Correctly answered feedback
No, | do not agree. Stage B's plant has leaves. The leaves can help the plant make food to survive.

Incorrectly answered feedback
No, | do not agree. Stage B's plant has leaves. The leaves can help the plant make food to survive.

Question 39 Primary 4 Science » Primary 4 Science (Term 2)
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The diagram below shows the human digestive system,

{m) Identify part X in the disgram above. (11

X:

Accepted answers:

v gullet

Question Type: Free Text

Date Added: Tue 29th Sep 2020
Last Modified: N/A

QID#: 23,961,506

Qu estion 40 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

{b] Icentfy the parts whers, M

{f) Digestian begirs:

Accepted answers:

v mouth

Question Type: Free Text

Date Added: Tue 29th Sep 2020
Last Modified: N/A

QID#: 23,961,510

Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Question 41
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(i) Digestion ends

Accepted answers:

¥ small intestine

Question Type: Free Text

Date Added: Tue 29th Sep 2020

Last Modified: N/A

QID#: 23,961,514

Question 42 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Name the parts of the digestive system where digestive juices are secreted

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,518

Correctly answered feedback
The parts are the mouth, stomach and small intestine.

Incorrectly answered feedback
The parts are the mouth, stomach and small intestine.

Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Question 43
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Joseph's grandmicthes said that har rate of digestion had slowed down becauss she
had lesl mosd of bar teath. She caimed fo-have chewed the same number of tima
as companed ko when she had of teeth.

Joseph set up tha experiment &5 seen betsw to test f her clalm wes tue. Ha
prepared selups A and B with identical amound of food substances pul B identical
amaunt of digestve juice as shown 0 ibe diagram below,

o082

&

Set-up A

digestve 1 ™ 7
juices =0
food @

subslances

Set-up B

He repeated the eaperiments and recorded the resulls in the able beiow,

Tirne taken for food subsiance to digest complodedy (mins)

Result | T try 2 try 3 iy
X 3 2 3
¥ 15 14 % 16

{a} Based on the miommation sbowe, which set of tesi resuls, X or 'Y, most ety
belomgs b sed-up A7 G a reason for your answar, [

Question Type:
Date Added:
Last Modified:
QID#:

Question 44

Essay

Tue 29th Sep 2020
N/A

23,961,523

Correctly answered feedback

Test results X. The same amount of food substances is cut into
smaller pieces to increase the exposed surface area of increased
the rate of digestion.

Incorrectly answered feedback

Test results X, The same amount of food substances is cut into
smaller pieces to increase the exposed surface area of increased
the rate of digestion.

Primary 4 Science » Primary 4 Science (Term 2)

Joseph chewed a piece of apple twenty times, while his sister chew an identical piece of apple of the
same size forty times. Who would take a shorter time to digest the piece of apple?

https://www.classmarker.com/a/tests/test/?test_id=1531644&trk=edittest_inrow_edit
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Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,538

Correctly answered feedback
Joseph's sister would take a shorter time to digest the piece of apple

Incorrectly answered feedback
Joseph's sister would take a shorter time to digest the piece of apple

Question 45 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

The diagram below shows parts of a plant system,
Based on the diagram below, answer the following toestions:

Accepted answers:

v stem

Question Type: Free Text

Date Added: Tue 29th Sep 2020

Last Modified: N/A

QID#: 23,961,543

Question 46 Primary 4 Science » Primary 4 Science (Term 2) 1 pt
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. The diagram below shows paris of a plant systam.
Based on the diagram below, answor the following Anestions:

-
g trew dagta e
= acaan

Accepted answers:

v roots

Question Type: Free Text

Date Added: Tue 29th Sep 2020

Last Modified: N/A

QID#: 23,961,545

Question 47 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
[z} Ehhmhm:mﬂufphntpunammdhmwhaﬂlj. i1

==

{cy  ‘What would hagpen i plant par stated in your answer in afil}) are tobally

removed? Give a reason for your answer. 11

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,551

Correctly answered feedback
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The stem transports water and mineral salts from the roots to

(b)
other parts of the plant.

()  The plani would withér and die. If the roots are removed, it
will not be able to take in water and mineral salts for the plant

to stay healthy.

Incorrectly answered feedback

(b} The stem transports water and mineral salts from the roots to
other parts of the plant.

() The plant would withér and die. If the roots are removed, it
will not be able to take in water and mineral salts for the plant

to stay healthy.

Primary 4 Science » Primary 4 Science (Term 2) 0 pts
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Kedly wantad to find out the mos? sultable material 1o make a shopping bag. She
prepared 8 set-up using materal A and added weights onlo material A uril it
siarted bo fear,

clamp camp

matenal &

She repeaied the experiment with matetals B, C and O respecively and recordad
the maximum weight the malerial cowid hold before @ started 1o BEIr'H'IlT‘lItItE
b,

Maimum weight it can hehd
before it start to toar (g)

300
aa
180
100

O 0 @

Based on the information abowe, which material{s) isfare most suitable to be
made into a shopping bag that can hold & content with a masa of 15097 Give a
reEson for Your answer. [1]

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,587

Correctly answered feedback

Materials A and C. They were the only materials that conld

withstand the weight until more than 150g before it started to
tear,

Incorrectly answered feedback

Materials A and C. They were the only materials that could

withstand the weight until more than 150g before it started to
tear.
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Qu estion 49 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Kulrrd}ppndhmmwuls.nmmnfmmmmmmmhm
same amount of watar. She then removed fhem at the same fime and hung

thiern on a balanoe as shown bebvw,
Belore Afbar
PR -
T FL e FE

{b} Explain why there was a changs in mass in materials B and D. 0]

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,597

Correctly answered feedback

(b) Material B and D absorb water.

Incorrectly answered feedback

(b) Material B and D absorb water.

Qu estion 50 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Which material B or D would be more suitable to make into a bathing towel? Explain your choice
clearly.

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,606
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Correctly answered feedback
Material D. It has a greater mass after soaking in water. This shows that it absorbs more water than
B.
Incorrectly answered feedback
Material D. It has a greater mass after soaking in water. This shows that it absorbs more water than
B.
Question 51 Primary 4 Science » Primary 4 Science (Term 2)

A deflated balloon was fived o a straw using rubber band, It was then placed in a
gontainer filled with substance J. The confainer was then sealed fightly and air was
fhe:n blewn info the straw &s shown in the diagram bedow; The ballcon did nod
irflate,

(gl Based onthe informalion above, what e the state of mater of substanca J7?
Explain your answear, [2]

Substance J was then emoved and a9 was blown inko he siraw as shown in bhe
diagram belows,

siraw
sealed lid

balioon ————

b1 The balloon inflated H he contatner. Géve B reason for this cbseration. [1)

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,616

Correctly answered feedback

(a) Solid / Liguid, Substance J has a definite volume, hence no air
could enter to occupy space taken up by substance J as there
wis oo space for air to enter the halioon.

(b The air in the container doex not bave a definite volume so it
cotild be compressed.

Tl
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Incorrectly answered feedback

{a) Solid / Liguid., Substance J has a definite volume, henee no air
could enter to occupy space taken up by substance J as there
was oo space for air to enter the balloon.

(b)  The air in the container does not have a definite volume so it
could be compressed. =

Qu estion 52 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

A beaker was filled with 100 om? of waber. Three objects, R, 5 and T were lowared
inta the beaker and the mow wolume was reconded as shown below.

Dbject R

{8) Based on iha meults above, aTanges fhe objects auodicg to fhif soume, Verfo p
the smallest volume, ) m

Smallest * largest

{b) Doy commented that | Is nod possible to ted the axact volume of object 5. Do
wou agree with Desi? Explain your answer. I
%

£} ‘Withowl remowing any parts of 1he sat-up, suggest one sy o fnd the voluma
of object 5. M1

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,639

Correctly answered feedback
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{a)

Object T Object R Object 8

(b}  Yes, Ido. Object S was not fully submerged in the water so it
is not possible to tell.

{c) Increase the amount of water in the beaker so that ohject S is
completely submerged in water,

Incorrectly answered feedback

{a}

Object T Object R Object S

(b}  Yes, Ido. Ohject S was not fully submerged in the water so it
is not possible to tell.

e} Imcrease the amount of water in the beaker so that abject 5 is
completely submerged in water,

Qu estion 53 Primary 4 Science » Primary 4 Science (Term 2)
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Peler placed a rubber botile in & container of water as shown below. When he
squeazed the bottle, bubbles were cbhaerved

4 equeezed rubber bottie
—— walar
= Wb oontainer
{a} Explain why bubbles ware formed. [1]

rubiber bottie

(b)  After all the bubbles had disappeared, he releasad his gop on the bottle until
the beltke refurned to its original shape as shown in the diagram above, He
then obeserved that thare was a decrease in the water level in the conlainer.

Expiain the decreasa in the watar level in the container. [

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,652

Correctly answered feedback

(a) The bubbles formed as air escaped from the bottle and water
entered the bottle.

(b) Some water from the container entercd the bottle to take up
the space which was previeusly occupied by the air.

Incorrectly answered feedback

(a) The bubbles formed as air eseaped from the bottle and water
entered the hattle.

(b) Some water from the container entercd the bottle to take up
the space which was previously oceupied by the air.
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Question 54 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Threa containers wena filled with egual amount of water as shown balow,

{a) Based on your obsarvafion, state one property of liguid. (1]

(b} Container W was placed in the freazer ovemighl.
The water has furned into ise. Container W was tited as shown in the diagram

bk
In the diagram below, draw a ne o show what would be observed
immediataly sfter removing containery] fram the freezer. (1
L
(o) Explain your answer in (b). [

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,661

Correctly answered feedback
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(a) Ligquids do not have a definite shape.

(b)

(e) Iceis a solid and solids have a definite shape.

Incorrectly answered feedback

(a) Ligquids do not have a definite shape.

(b)

(c) Ieceis a solid and solids have a definite shape.

Question 55 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
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Jaime had thres magnets, A, B, and C, of similar size. Each of thess magnefs had
differant strength.

When the magnels wers broug
imeractions between the magnels and meas

The diagrams beiow show Jaime's cbservations.

ht close 1o sach cther, Jamie observed ihe
ured the distancaid) betwaan fhem

Basad on the information abose, SnEees 1_115 faillcwing gquestion
ia) Which of the magnets, A or B, was stronger? Explain your answer,

Question Type: Essay

Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,681

Correctly answered feedback

Magnet A is the stronger magnet, it repelled magnet C further.
]

Incorrectly answered feedback

Magnet A is the stronger magnet, it repelled magnet C further.
]

Qu estion 56 Primary 4 Science » Primary 4 Science (Term 2)

Jgime then tried io place the magnels side by side.
hews what happened whon sha released the magnets.

The figure balow 5
i balow to show clearly the poles of the
m&:ﬂrui I{I;': :fdﬁ'lag'lr':l‘ﬁrﬂ one hag been done for you i
o |
—F 1 :
| |
{}___ -pole
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Accepted answers:
v’ South
¥’ South - pole
v South-pole

v’ South pole

Question Type: Free Text

Date Added: Tue 29th Sep 2020

Last Modified: N/A

QID#: 23,961,694

Question 57 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

§ Jaime then tried to place the magnsts side by side.

the magnets.,
The figuie below shows what happened when she rekased
Wrrteﬁqb:ttu M or 5 in the diagram below to Show clearly the potea of the

magnate at locations (i) and {if). The first one has been done for you. o

fin____ -pole
Accepted answers:
¥ North
v North-pole
¥’ North - pole
¥’ North pole
Question Type: Free Text
Date Added: Tue 29th Sep 2020
Last Modified: N/A
QID#: 23,961,710
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